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@® siny =sinz @ cosy = cosz
® tanx = tanz @ cosz =BD

3 tanx = CE
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AB 9] 3127

@D -2 @2 -1 3 0 @ 1 B 2



BC ¢ ufj, tanA 9]

% ABC o tisiA] AB = g

37}

751‘ Z}—AP

d

/B = 90°

3.

sholat

2



ol
S
ol

o
N

ol

© cos45° © sin0°

@ sin45°

@ tan60°

® cos60°

e, @00 00,0 ®0,6 60,0



0° <A <90° o o, oha= 7Hks] 3H?
\/(COSA +1)% + \/(COSA 1) + Vicos?A

@ cosA-1 @ cosA +2 @ 2cosA-1

@ 2cosA+1 ® 2cosA +2
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@ sin z cos T tan x

43° 0.6820 0,7314 0.9325

44° 0.6947 0.7193 0.9657

45° 0.7071 0.7071 1,0000

46° 0.7193 0.6947 1,.0355

47° 0.7314 0.6821 1,.0724
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0° < x < 90° °f Hi5te] cos(2x — 10°)
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10. cos(2x+40°) = = ¥ o}, tan6x 9] F2? (H, 0° <x < 90°)
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11. tan(x+15°) =1 € W, sinx + cos x &] F27 (T, 0° < x < 90° )
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12. tan(2A -30°) = V3 & W], V2(sin A + cos A) — 2 9] gF-& st t.
(2 0°<A<90°)
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= sin cos tan
32° 0.53 0.85 0.62
33° 0.54 0.84 0.65
34° 0.56 0.83 0.67
35° 0.57 0.82 » 0.70
36° 0.59 0.81 0.73
37° 0.60 0.80 0.75

® sin32° = 0.53
® tan36° = 0.73

3 3co0s36° = 2.44

@ cos34° =0.83

@ 2sin35° =1.14
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<Z7A O>sinx = 0.2588
<Z7A @>tany = 0.3640

2 AOl(sin) | AFQ!(cos)| EHAI E (tan)
14° 0.2419 0.9703 0.2493
15° 0.2588 0.9659 0.2679
16° 0.2756 0.9613 0.2867
17° 0.2924 0.9563 0.3057
18° 0.3090 0.9511 0.3249
19° 0.3256 0.9455 0.3443
20° 0.3420 0.9397 0.3640
21° 0.3584 0.9336 0.3839

1) 928° ® 30° B 392° @ 35° B 40°
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@ sin(x+y) =0.77
® cosy = 0.82

® tany = 0.70

0.40 0.82 1 E

@ siny = 0.82

@ cos(x+y) = 0.40
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@ sin45° = cos45°

@ cos48° > cos38°
@ tan35° < tan40°® @ sin37° < cos37°
B sin56° < cos 56 °
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tan(A — 15°) = 1 0|4, x> — 2xtan A — 3(tan A)? = 0 2]
TotH? (T 0° <A <90°)
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18. o2 AZtH|o] ZE H I tan15° X cos43° X tan75° + cos 75 ° X
1

—— xtan15° ¢] & F-stofzt,
sin 15
T sinz COST tanz
15° 0.2588 0.9659 0.2679

43 0.6820 0.7314 0.9325




19. tanA = sin® 35° +sin® 55° + tan 28° X tan 62° 4 W], sin? A — 2 cos? A
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B z | sin z| cos z | tan z

D 53°| 0.80|0.60 | 1.33

54°| 0,810,559 | 1,38

55°| 0.82| 0,57 | 1,43

T , 56° | 0.83| 0.56 | 1,48

D 2.25 ® 1.38 3 2.19 @ 1.93 3 0.81



